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FEHBFFK (n=0) 0.0 0.0 0.0 0.0 0.0
ERFSEER (h=1) 100.0 100.0 0.0 100.0 0.0
HAIZIEFER (n=24) 87.5 91.7 458 70.8 42
SEEMER (=1) 100.0 100.0 0.0 100.0 0.0

£ & (n=1065) 94.4 96.2 58.5 721 1.6



C-2. MimMEER - BRIBICOWVWTLUTOEBEDORBREZTVE LD, (EBEET)

1. gkOoRemEs | 2 ﬁ‘;ﬁ;’gﬁ“”“’ 3. MORSHEE 4. Fibtihots

HECELE (n=0) 0.0 0.0 0.0 0.0
% #H BE0h=8) 100.0 62.5 62.5 0.0
N F R(h=671) 955 83.9 776 30
FF &(h=293) 96.6 82.3 79.2 34
EBHEFR(h=1) 100.0 100.0 100.0 0.0
2HFIEEEK (n=38) 84.2 71.1 474 15.8
FEHEFFK (n=0) 0.0 0.0 0.0 0.0
ERFEEER (h=1) 100.0 100.0 100.0 0.0
Al ZIEFR (n=24) 95.8 83.3 50.0 42
SEEMER (=1) 100.0 100.0 0.0 0.0

£ A (n=1037) 95.5 828 76.2 3.6



C-3. BERRICOVTUTOHBADREZRFL TLELED,, (HHEER)

1. Kk 2. WEME-pwy | & BRAZOERE

HBECELE (n=1) 100.0 0.0 0.0 0.0
% #H BE0h=8) 75.0 50.0 75.0 0.0
I F KR (h=666) 98.3 61.7 65.3 0.2
o F & (h=290) 945 53.4 61.7 38
EBHEFR(h=1) 100.0 100.0 100.0 0.0
2HFIEEER (n=37) 81.1 378 62.2 10.8
FEHBFFK (n=0) 0.0 0.0 0.0 0.0
ERFSEER (h=1) 100.0 100.0 0.0 0.0
HAIZIEFER (n=22) 90.9 545 50.0 45
SEEMER (=1) 0.0 0.0 0.0 100.0

£ A (n=1027) 96.2 58.2 63.8 1.8



D-1. KDEIZODLWTHEEE LET, EHMEERA)

EECELE (n=16) 0.0 81.3 6.3 25.0
% (n=34) 0.0 88.2 0.0 11.8
86.0 2.0 16.0

4 A (h=50) 0.0



D-2. T—ILKDEKIZODWTHEEZELET,

m1. FEHEECE m2 2~7H 3.8BLLE

FEECELE
(n=50) (n=34) (n=16)
m1. ERECE 98.0 97.1 100.0
m2. 2~7H 0.0 0.0 0.0

3. 8HLKE 2.0 2.9 0.0




E-1.

BEELET,
=1 EALTLS

0% 20%

3. FNAELY

60% 80%

=2 foTLHA . EALTLAL
40%

(28 BERERFERENRTLTVSD ERICE TS KKT—ILORBHEEE (FR28EERET) | OFAKRIZONT

100%

[ [
70.6

HECELE
(n=17)
b I 3
(h=48)
A S S
(n=674)
I
(n=296)
EBRBEER
(n=3)
£ BflEEER
(n=36)
FEHFER
(n=0) :
EHHSEER
(h=1)
R IR
(n=29)
BEEMER
(n=1)
& *®
(n=1105)

22.6 234
27.4
66.7

38.9

26.4
I

0.0

0.0

S *®
(n=1105)

EEEMER
(n=1)

FRIIEFR
(n=29)

EFFHEEFER
(n=1)

FEHFFER
(n=0)

£ HHEEER
(n=36)

EBBEER
(n=3)

FoFE K
(n=296)

IhFE R
(n=674)

S
(n=48)

RECELE

(n=17)

m1. ERALTLS

49.7

100.0

37.9

100.0

0.0

38.9

333

43.9

54.0

45.8

29.4

H2. FoTLBH, FFALTLEL 23.9

0.0

41.4

0.0

0.0

22.2

66.7

28.7

22.6

10.4

0.0

3. ;L

26.4

0.0

20.7

0.0

0.0

38.9

0.0

27.4

234

43.8

70.6
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